

City of West Allis Matter Summary

7525 W. Greenfield Ave. West Allis, WI 53214

File N	lumber	Title		S	Status					
R-20	009-0199	Resolution		I	Introduced					
		Resolution to approve bid of Capitol Pavers, Inc. for sidewalk repair in the general area bounded by S. 70 St., S. 84 St., North Corporate Limits and the Union Pacific Railroad in the amount of \$101,961.80.								
		Introduced: 9/1/200	09	(Controlling Body: Public Works Committee					
				S	Sponsor(s): Public Works Committee					
			n	11	_					
COMMITTER	RECOMM	MENDATION	Ha	OPT						
				/	***	DDECENIE	EVCLICED			
ACTION	MOVER	SECONDER	Barczak	AYE	NO	PRESENT	EXCUSED			
DATE:			Czaplewski	~						
01.0			Kopplin							
7-1-07			Lajsic							
			Narlock							
	-		Reinke	-						
	-	-	Roadt Sengstock							
	-/		Vitale	4						
	1		Weigel	V						
				5						
			TOTAL			-	-			
SIGNATURE (OF COMMI	TTEE MEMBE	R							
- 11 1	Dan									
Chair	Jun	Vice-	Chair	Member						
	-									
COMMON CO	DUNCIL A	CTION		ADOPT						
ACTION	MOVER	SECONDER	D .	AYE	NO	PRESENT	EXCUSED			
DATE:	-		Barczak Czaplewski	~						
EP - 1 2009			Kopplin	1						
1 2009			Lajsic							
			Narlock	V						
			Reinke	V						
			Roadt	~						
			Sengstock	<u></u>						
		-/	Vitale Weigel	~						
			weigei							
			TOTAL	10						

TOTAL



City of West Allis

7525 W. Greenfield Ave. West Allis, WI 53214

Resolution

File Number: R-2009-0199 Final Action:

Sponsor(s):

Public Works Committee

SEP - 1 2009

Resolution to approve bid of Capitol Pavers, Inc. for sidewalk repair in the general area bounded by S. 70 St., S. 84 St., North Corporate Limits and the Union Pacific Railroad in the amount of \$101,961.80.

WHEREAS, The Board of Public Works reports that it duly advertised for bids for the furnishing of certain materials and the performance of all work required for the improvements in a certain area as hereinafter described; that the bids received as shown on the attached bid report were reasonable and hereby recommends and deems it to be for the best interests of the City of West Allis that the bid of Capitol Pavers, Inc for 2009 Project No. 14 be accepted.

NOW, THEREFORE, BE IT RESOLVED By the Common Council of the City of West Allis that the bid of Capitol Pavers, Inc. for 2009 Project No. 14:

Sidewalk Repair

General area bounded by S. 70 St., S. 84 St., North Corporate Limits and the Union Pacific Railroad

for the sum of One Hundred One Thousand Nine Hundred Sixty-One and 80/100 Dollars (\$101,961.80)

be accepted, and the proper City officers are hereby authorized and directed to enter into contractual relations with said contractor for the performance of said work, in accordance with the prices submitted in their proposal and with the specifications of the City of West Allis, and that all other bids received for same be rejected; and,

BE IT FURTHER RESOLVED That said improvements be installed with funding by Bond Funds and Special Assessments.

ADOPTED

SEP - 1 2009

Paul M. Ziehler, City Admin. Officer, Clerk/Treas.

APPROVED

Dan Devine, Mayor

City of West Allis 2009 Project No. 14 Bid Opening - 8/27/09

SIDEWALK REPAIR

General Area Bounded by S. 70 St., S. 84 St., North Corporate Limits, Union Pacific Railroad

				Bid Bond 5%		Bid Bond 5%		Bid Bond 5%		Bid Bond 5%		Bid Bond 5%	
				Capitol Pavers, Inc.		Marvin Gleason		Snorek Construction, Inc.		D.C. Burbach, Inc.		LaLonde Contractors, Inc.	
				18005 W. Lincoln Ave.		Contractor, Inc.		3830 S. River Ridge		W228 N2762 Duplainville Rd.		PO Box 070420	
				New Berlin, WI 53146		2811 Twin Waters Lane		Greenfield, WI 53228		Waukesha, WI 53186		Milwaukee, WI 53207	
	ITEM	1 111170				Franksville, WI 53126							
4		UNITS		PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL
1	Full Depth Asphalt/Concrete Sawing	280	Lin. Ft.	\$2.00	560.00	\$3.00	840.00	\$4.00	1,120.00	\$2.75	770.00	\$2.05	574.00
2	Root Sawing	1,660	Lin. Ft.	\$6.00	9,960.00	\$3.25	5,395.00	\$6.50	10,790.00	\$4.25	7,055.00	\$4.33	7,187.80
3	Walk & Drive Removal	12,590	Sq. Ft.	\$0.72	9,064.80	\$1.10	13,849.00	\$0.95	11,960.50	\$0.96	12,086.40	\$1.00	12,590.00
4	Curb Removal	170	Lin. Ft.	\$4.00	680.00	\$6.00	1,020.00	\$8.00	1,360.00	\$5.00	850.00	\$7.99	1,358.30
5	Concrete Grinding	110	Sq. Ft.	\$20.00	2,200.00	\$15.00	1,650.00	\$5.00	550.00	\$31.10	3,421.00	\$5.48	602.80
6	5" Concrete Sidewalk	9,100	Sq. Ft.	\$4.59	41,769.00	\$5.45	49,595.00	\$5.70	51,870.00	\$5.40	49,140.00	\$5.96	54,236.00
7	7" Concrete Walk & Drive	3,460	Sq. Ft.	\$4.80	16,608.00	\$6.00	20,760.00	\$5.95	20,587.00	\$5.95	20,587.00	\$6.46	22,351.60
8	Curb Ramp Detectable Warning Field	32	Sq. Ft.	\$35.00	1,120.00	\$45.00	1,440.00	\$45.00	1,440.00	\$35.00	1,120.00	\$31.31	1,001.92
9	Concrete Curb and Gutter	170	Lin. Ft.	\$45.00	7,650.00	\$24.00	4,080.00	\$29.00	4,930.00	\$29.00	4,930.00	\$32.95	5,601.50
10	Concrete Riser	20	Lin. Ft.	\$35.00	700.00	\$30.00	600.00	\$80.00	1,600.00	\$55.00	1,100.00	\$47.97	959.40
11	Mudjacking	2,600	Sq. Ft.	\$2.25	5,850.00	\$2.30	5,980.00	\$2.50	6,500.00	\$2.15	5,590.00	\$2.00	5,200.00
12	Pavement Ties	90	Each	\$7.00	630.00	\$5.00	450.00	\$6.50	585.00	\$5.25	472.50	\$12.25	1,102.50
13	Base Aggregate Dense, 1-1/4"	50	Tons	\$15.00	750.00	\$10.00	500.00	\$16.00	800.00	\$17.50	875.00	\$17.83	891.50
14	Tack Coat	20	Gallons	\$3.50	70.00	\$5.00	100.00	\$10.00	200.00	\$10.00	200.00	\$5.00	100.00
15	Asphaltic Surface Patching (Type E-0.3)	60	Sq. Ft.	\$5.00	300.00	\$20.00	1,200.00	\$10.00	600.00	\$10.00	600.00	\$18.00	1,080.00
16	Adjust Utility Frame	1	Vert. Ft.	\$350.00	350.00	\$200.00	200.00	\$350.00	350.00	\$300.00	300.00	\$254.67	254.67
17	Manhole Protection Barriers	1	Unit	\$200.00	200.00	\$100.00	100.00	\$50.00	50.00	\$75.00	75.00	\$36.83	36.83
18	Traffic Control	1	Lump Sum	\$3,500.00	3,500.00	\$2,600.00	2,600.00	\$6,000.00	6,000.00	\$15,180.00	15,180.00	\$11,510.00	11,510.00
	Totals		[\$101,961.80		\$110,359.00		\$121,292.50		\$124,351.90		\$126,638.82